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SUMMATIVE ASSESSMENT -
MATHEMATICS / Class - IX
Time Allowed : 3 hours Maximum Marks: %
General Instructions:
L All questions are eompulsory.
i The question paper consisis of 31 questions divided into four sections A, B, C and . Section-

A comprises of 4 questions of 1 mark each; Section-B comprises of b questions of 2 marks each;
Section-C comprises of 10 questions of 3 marks each and Section-1} comprises of 11 questions
of 4 marks each.

- There is no overall choice in this guestion paper.
i Use of galeulator is not permithed.

SECTION-A
Question numbers 1 to 4 carry one mark each.

) 3,12
Find the val f o
value of 5= (1)

Facrorise: ¥* — 16,
If lines [ and 1 are | Lines mr and » are also parailel, then what can vou say about
the lines land n ?

The area of a paraliclogram of altitude 12 cm is 108 cm?. Find the base of the pamlleh':ugmm@
SECTION-B
Cuestion numbers 5 to 10 carry two marks eac
Is = a rational number ? Justify your answer.
Determine whether 3x— 2 is a factor of 35 + 52 = 20% +12. (2
Does Euclid's fifth postulate imply the existence of parallel lines? Explain. @
In the given figure, AB is parailel to CD. Find the value of x. H

E 1A
@ wﬁc
A oC

Plot the points {3, —E}md{—ﬁ,ﬁ}ardilinﬁmm@
Find the arca of a trangle whose sides are

corres ponding altitude using longest side as base.
SECTION-C
Question numbers 11 to 20 cerry three marks each,

— 5 fi =
Simplify : SH N
s N 2 Y3 e @

2 1 3
. + el
Sl BB Bl B @
y2
Expapa: [E_%”; @

If fx) = 542 — 4w+ 5, find F{1) -+ [ — 1)+ F{0). @

4 cm and 5 cm.  Henge, find the
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In the given figure, lines AB, CD and EF meet at 0. Find the
value of x, hence find all the three indicated angles.

&

A o] B
%u\
&
E
in the figure, PQLFR, PQYRL, £RQT =36 and <QTL =75 Find [ Q
x and w. "
@ 4
iy
R I
Find x and y in the given figure. A
F.\' =6
G
C P D
3y +6)

ABC is a triangle and D & the mid-point
equal. Prove that triangle is ispsceles,

The perpendiculars from D to ABand AC are

Plot the points (x. y) given in the table on the cartesian plane; choosing suitable
units of distances on the axes : = .

X g FDS. o t4- =3 1<% |5 @

¥ 0 w3, .. 1 =¥ i =2}
A triangular park in a city has dimensions 30 m, 26 m and 28 m. A ener has to plant grass

inside it at ¥ 1.50 per m°. Find the amount to be paid to the gardene

Question numbers 21

o3lc

if x==8 - 45 , find xl+—'f
X

SECTION-D
four marks each.

If x i5 @ positive real number and exponents are rational numbers, then simplify :

5

If the polynomial 4x) - 167 +ax+7,
Henee factorise the polynomial,

Divide polynomial p(a)=x*—4x"+

in p(x) so thatitis divisible by g{x).
Factorise : a® — zi'l:r‘L + m

Prowve that (x+ ﬂ + (¥

21ab? Lf.,-.f.}

b+ c+a—h .- a+h={
S e I R
HlaNTL o gt )

ctly divisible by 1—1, then find the value of a.

T +4 by g{x)=x~1 and find what should be added

+?‘.i [H-ri =3 e+ :H:+:‘,|-2{x +jl' +: — Axyz]. @
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Students in a school are preparing Banner for a rally to
make people aware for saving electricity. What value are
they exhibiting by doing so ¥ i
Parallel lines | and m are cut by transeersal §, f 4= 75, 7
and £6=27, what |s measure of anghe & 7 @
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i
in the given.figure, PQ =0R, M s the mid-point of PQ and N is the I M Q
mid-point of QR. Show that PM =MNR. State which axiom you use here. '
Also give two mare axioms other than the aiom used in the above

situation. @ n

R

In the figure, tind x and v, if fjm and pilq.

In the figure, the sides AB and AC of AABC are produced to A
points E and D respectively. [f bisectors BO and CO of ZCBE
and < BCD respectively meet at a point O, then prove that

G |
SBOC =%F E.{Eﬁc. @ 5 c

In ihe figure, CA=0D and £1=£2 Prove that AOCB is an

isosceles riangle. @



